00000000 [Do00oOooooog]jooo

oboooobOoO0ooobOoboooobobooooobooooooboobonoo

oo 0 0
p-130200 goooooooo goooooooo
p440500 Lrooodoodoodod Lo Lo L1o
p440110 0 0 (3.2)0 IpO 0310 Ip0
p-o00200 goooooo gooooo
p-129011 00 071 g 7.10
p.1300000 1100 | K =250uS/V K =25mS/V

JwCi Ry JwCa Ry

p.17300 (9.30)

(1 — w2C’102R1R2) + jw(01R1 + C1Ry + Csz)

(1 — w2C’102R1R2) + jw(ClRl + CyRy + Csz)

p-180 700 CMOSOOOOOOO (2003) CMOSOOO0OOOOOOOO (2003)
p-185090 0O 0000ooo0ooogo (2006) 00000000000ooo0o0 (2006)
p.1870 300 01100000000000 01100000000000

p.1010000 400

V(;Sp = s/[D/Kp—l—VTp

Vasp = —/Ip/Kp+ Vryp

p.1910000 200

oo

O Vasn — Vasp O

p.1010000 200

Vas = \/ID/Kn + \/ID/Kp + Vrn + VTp

Vas = \/ID/Kn-i- \/[D/Kp-l-VTn - Vrp

p.101000000

Ip = {K, K,/ (VKn + /Kp)*YVas — Vin — Vip)?

Ip = {K, K,/ (VEKn + /Kp)*Y(Vas — Vrn + Vip)?

p.19202 00 Vi = Vi + Vi Vi = Vipn — Vi

p.197021 00 Rso < gmR%,/2 — 2Rs1 = 16kQ Rso < {gmR%,/2 —2Rs1}/(1 + gmRs1) O 1.8kQ
2 2

p.1990190 0 (s +p)lr + B, 0 420MHz (s +p)hr + B, 0 370MHz

QW{Cqusp(Rs + Td) + quR%}

QW{Cqusp(Rs + Td) + quRLR%}




